
Warning: Remove entire table 
assembly from boat if transporting 
boat on trailer! 

Paddle Boat Table Assembly and Installation for the PK3000 or PK4400 

Tools needed: Phillips head screwdriver, drill with an 11/32" drill bit and a 1/2' wrench 
Screws included: 12) 3/4" self-drilling screws 4) 4 1/4" bolts, washers, and wing nuts 

Note: Do not over tighten screws! 

1. Using a Phillips head screwdriver, install the 3/4" screws in numeric order (all attachment points 
are pre-drilled and pre-numbered). 

2. Once the table is assembled, place the table on the paddle boat by lining up the edge of the 
front table legs with the front edge of the boat (see pic below). 

3. Locate the 4 predrilled mounting holes. Mark the paddle boat deck and remove the table. 
Using an 11/32" drill bit, drill all 4 holes through the deck and frame of the boat. 

4. Set the table back in place and install the 4 1/4" bolts until tight. 
5. Set table back in place and install the 4 1/4" bolts until tight. 


